" AP Statistics Ch 4 - Extra Practice = Name: Soluhons Per:

How much disk space does your music use? Here are the files sizes (in mﬁg&bﬁe&} for 18
randomly selected files on Tim’s mp3 player:
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#1. Make a dotplot of these data.

e ®
® »
Py &
o ® ® o
e ® é © ® ® P
\ 2 ® q T & 2
Ple $2e{ me |

#2. Find the mean, standard deviation, and 5-number summary (min, Q1, median, Q3, max).
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#3. Describe the overall pattern of the distribution and any possible outliers.
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#4. The histogram shows the
distribution of electoral votes for the 50
United States and the District of
Columbia. Describe the shape, center, '
and spread of the distribution.
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" Of the 50 species of paks in the United.'States, 28 grow on the Atlantic coast and 11 grow in
California. We are interested in the distribution of acorn volumes among oak species. Here are
back-to-back stemplots on the volumes of acorns (in cubic centimeters) for these 39 oak species:

Volame of Acomns (cubic centimeters)

. Aflantic coagt Califomnia el
ey 9986430 14 Warfme
o 8886421111111 |06 Tz %%

K =233 5012 |06. 5 =¥ 65F
5w 227 664013 a1 14
TN ‘ g4 |1 ~
= _ v - A/
pad £ K2 5 159 ;4
. 5 816 (0 az=
q3=% 7 |1 frae = 6 =16 =11
{’f& A Fosmelol ”5*?"‘@) ) ' i g /UF“ .;xé.‘«.l.s”("h‘f) :7"/2’4)
saseta(23) e 5 (10 :
(ve =2 1
12
13
14
: 15
- Key: 2l6=2.6 em® "~ 16 |
' : 1711

#5. Use the stemplots to compare the distribution of acorn sizes between Atlantic Coast and
California oak species. '
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